SUMPOIRIEIANINTOIS A

L SuMPO EPD — AL R A RTFIIR B R

.o E pD 14T INBRIBEETE (EPD) ERHTFARBEAME-14-8
VERIFIED KANDA SQUARE GATE
EES ¢ JR-AlI-25268E https://ecoleaf-label.jp

FUJIFILM

Value from Innovation

BITML EYRX A/R-YaUkR &t
FUJIFILM Business Innovation Corp.

A3 HS—EEHK

A3 Color Multifunction Printer

— ApeosPort-VII C3373 (Model-CPS)
—_ (for AU)

Apeos. Apeos 0. ApeosPro. ApeosPort . LU ApeosPrint (&, BLEIMIVAESRIAA IR L OB IR EIRF I (LFEETT,
Xerox. Xerox OJ. B&UFuji Xerox 0T, KELCOYI A OEREIEEEEZETT,

HEH(L EHRES JR-AI-25268E
P EFAPCREFS  PA-590000-Al-08
PCR% ER A PR
HEMREZRE NES]S 2026518 16H
WK mEs]) RIEAHE 20254118258
OREMREE Q%EE OFE OEMA - REEA YATLFRAEAR
GFEE- VI RILES 2025-FB-EL-071
BRI EAR 20304118248
HEmOBKX, TELK-HET PCRLE1-DEi
A : ApeosPort-VIl C3373 (Model-CPS) SHEHEZ 2023498 1H
FEMLRR N5-EAE EPAR) £EE i 82
ENRIRE : £/70 35ppm (A4 LEF) (FRIB —MAt EE AY AT IR S HEE 1)
$H5- 35ppm (A4 LEF) E=HRFE BEETF
RARAHEYM1Z © SRA3(320x450 mm), NERRIIE
12x18"(305x457 mm), A3
FUYR/AE-/AFY ISO14025(C 5> e A B E R UT -5 DL UTAREE
3 7 EN Rl B /ADF (R 7% B BhTiA ) OB AR
* 2T LRIEB I EEENOREDH AR, VAT ARIETRBERD
ZEETH.

Buahttse BEIMIVALAESRIAINR—S3 ket
EEMAXAHREHFSV6THIE
https://www.fujifilm.com/fb/

Z#k&ES © JR-AI-25268E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SuMPO SuMPO EPD SUMPOBRIESAIV IO s

E p D —— —RALEEAY AT H IR EHEE
S pEFY 14T NBEEE (EPD) T REXAHE-14-8
WERIELED KANDA SQUARE GATE
BEaES JR-AI-25268E https://ecoleaf-label jp
1T IV EEME R
o . - fE R - #Efs
RETRERR | LSRR TR RS e BEEEERRS
28
S[REE - &t kg-CO2eq 8.90E+02 2.18E+01 7.69E+01 1.32E+02 1.55E+02
AV BHIE kg-CFC-11eq | 6.67E-05 2.81E-08 2.70E-08 3.90E-06 3.35E-08
EREL kg-PO.3-eq 1.53E-02 1.62E-06 1.87E-04 2.50E-03 1.84E-04
iz (d kg-SO:zeq 2.32E+00 1.31E-01 7.00E-02 5.81E-01 1.67E-01
HALFEAEIIV kg-CzHseq 1.79E-02 3.33E-05 4.67E-04 1.10E-03 1.30E-03
FEYE RS - 54 kg-Sbeq 8.63E-01 7.19E-05 1.36E-05 4.52E-02 3.23E-05

179171 IRY MY REEER

—REROEMICEAT I

FREESE | WERE | oBSE ﬁ’?ﬁ'ﬁffﬁ BB
BEARE—XRER - IRIF- (RPRy) M) 1.75E+03 1.65E+02 9.78E+00 6.32E+02 7.27E+01
BEARE—RER - IRLF-2EME (RPRy) M) 1.50E+01 2.71E-03 2.52E+02 6.50E+02 1.37E-02
FEFLERE—RETR - TRILF— (NRPRp) M) 1.45E+04 6.98E+02 8.82E+02 3.09E+03 8.47E+02
FBEAE—REE - TRLE-SBHE (NRPRy,) M) 1.82E+03 2.07E-01 2.99E+00 2.55E+02 1.78E-01
HRIKDHEEE m? 4.44E+00 8.61E-03 2.65E+01 6.86E+01 1.30E-02

HERRICEIZEMIER

A-ARSUTEHAGFRELTEELELE,
EEEEPHR)DIZEYFTUATEELTNET,
S G OB E AR5 ER T,
fER - HERERBECHIZENRIAROB R EEENE A,
ERABOEAIE. IRNF-R5-T0JTLVer3 28 #(CR->THELETECIEZTICEE LELE,
EEENRIARERIL, 182,4001TF,
1/4 x 32 (¥aJ/B) x 19 (1) x 5 (B) x 4 (B) x 12 (7 B) x 5 (&) = 182,400%%

2D OIRIERIEIEER

MRBSUMECET 2R S FEVEICREIZER
HH

-8 (EREES) Bify CAS No. ENE
@ 62 kg - -
Sus 12 kg - - -
TIVIZUA 0.85 kg
ZOtERE 10 kg ERALEZRT-IDEZXH
FI3AFYY 44 kg FRENLIL. LCIT-FR-AIDEA Ver3.4, SUMPORESINI SOV LB HT-Y
T4 0.30 kg Ver.1.16ZERALTNET,
A5 1.8 kg
- AR 8.4 kg e
FEE FRENR 40 kg -
Z AR 6.3 kg
kol 5.4 kg

OT-YEENH L. PCREBLUVEE - EERBESBLTIEN,
OLLRIIOVNTUL EE - EERBCHEINLEAFERELEGEICLARHONEE A,
(BBB4EURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

